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Regression Line oF Yy on

Y-y=v 6Y (x-%) = byx (% -%)
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Resvgssion Lne oF x on Y

X-X =¥ % (y-u)=bhgy (4-9)
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Variables are ex?'ressecl as 22-34Y=0 and 4Y-S5=x~8=0,

Eind € and r:j , the Yg%fgssion cogr—l’-{(;’g[\}s ond the

Correlation coelFicient between 2 and Y.

So|"s- The $wo Yeqression equations are

2x-3y=o0 — O

4y-5x-8=0

“The %’Joo'rd‘ (X2Y) lies ot the intevsechon o both the lines
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z = bﬂx-’:g%-

2%-34y=0 3 Y= =
4Y-52=¢ 2 X = MMM%%—
S

| r. Coe¥Ficient of corvelahon “o’(x.'_-l)z\/ bzys byx
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Yy=«+5
[6 z=9Y-9 4
Find —the Yoawiance oF % , 1¥ the vawance ofF Yy o 16
Also #ind  the covariance beth X andy.
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Find the mean value of wandem vamoble % and Y ood the

Ex 3
cottelaton ceeFFicient+ between them, when +the +weo lines oF
ﬁgmis{on gre qiven by
S5x+7Yy-22=0
6xtr2y_20=0
1 e an z £nd th  deviah of 2¢ .
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* Std. deviatiop OF = s 2:646.
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EX 4 - Given thot the voriance oF =93 2 +,e g—ef]:ressfon

e.c}ua:l-ions ore
3x—10y+ 66=0

40%- I€Y = 214

Find (@> Mean values of x ¢}
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(> std deviahon of y .
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